510610

1000hm?
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21

22

31

3.2
3.2.1

15-300m
1680mm

205

75%

667hm?



In

i

2
S =8.64FxT/p
S (x10°m’) F
d 1 24 n
96.99 x10*m’
2
822 x10*m’
S 24.66 x10*m’
3.2.2
D=0.0001A%n}, qixm;
D (x10°m’) A
n 170% my
75% q 1 n
0.85
D 105.06x10*m’
3.2.2
S +S D
3.3
7-8 7 8
331 7
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m3/s

hm?

T

2

(m*/hm?)

70%



S =Q +Q -Q -Q

S 7 x10'm*  Q x10*m’
56 70%
x10*m’ Q =0.1F-CP km?
04 P mm
Q x10*m’ =10" a'A"Z
a 0.65 A m? Zz
mm Q
5%
1 70%
S 19.58 x10*m’ S
5.75x10*m’
2 7
7
75% 1
1 m?/hm?
656 975 321 1952
7 500 975 321 1796
578 975 321 1874
975 321 1296
8 250 975 1225
500 975 1475
D=10"* Y (mi*xA)/n
D 7 x10°m®  m; i m3/hm?
A i (hm?) 7 0.85
7 21.09x10*m’
3 7
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332 8
8 8
7 6 7
8
1 8

8 3 Q 7
7 7 7
7 4.29%10*m’ Q

1 40%
7.34x%10%m’ 3.29x10*
8 10.63x10*m’
2 8
8 5 8 6.17x10*m’
38
8
4
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